Name: Quadrilaterals in the Coordinate Plane

® BEAR Quadrilateral
B(-1,4), E(2,5), A(3,2), R(0,1)

Calculate the length and slope of each side and from these calculations only determine
what type of quadrilateral BEAR is.
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© oHMmY Quadrilateral
0(-1,4), H(2,3), M(4,-3), Y(1,-2)

Calculate the length and slope of each side and from these calculations only determine

what type of quadrilateral OHMY is. D\/ q bo
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Narme: Quadrilaterals in the Coordinate Plane

WZRD Quadrilateral
W(0,3), Z(5,3), R(8,-1), D(3,-1)

Calculate the length, slope, and midpoints of the two DIAGONALS and from these
calculations only determine what type of quadrilateral WZRD is.
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AHSZ Quadrilateral
A(-2.1), H(2,2), S(5,-4), Z(1,-5)

Calculate the length, slope, and midpoints of the two DIAGONALS and from these
calculations only determine what type of quadrilateral AHSZ is.
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